
DEPARTMENT OF TRANSPORTATION

STATE OF ILLINOIS

ENGINEER OF BRIDGES AND STRUCTURES

EXAMINED

PASSED

ENGINEER OF BRIDGE DESIGN

2OO6

STRUCTURE NO. 020-0063

F.A.P. RT. 717  SEC. (111B)BR

DEWITT COUNTY

STATION 1069+54.00

10

Contract #70387

DEWITT
F.A.P.

717
(111B)BR 16

SHEET NO.

SHEETS

SECTIONROUTE NO. COUNTY

ILLINOIS FED. AID PROJECT-

TOTAL

SHEETS

SHEET

NO.

FED. ROAD DIST. NO. 7

(One Each Side) (NTR)

1 1/2 "1 1/2 "

4"

in
  
1
5
/1

6
 "

 }
 h

o
le

s

 1/4 " (Max.)

Opening

~
  

7
/8

 "
 }

 H
.S

. 
B

o
lt

s

9
 s

p
a
. 
@

 3
 1

/8
 ’

’ 
c
ts

. 
=

 2
’-

4
 1

/8
 ’

’

4

4

3

3

L
L

(LL

R

R (Total)

L
L

43

33

(k/ft.)

(’k)

(k/ft.)

(’k)

(’k)

(’k)

(’k)

(k.s.i.)

(k.s.i.)

(k.s.i.)

(k.s.i.)

(k.s.i.)

(k)

(k)

(k)

(k)

DC1

M DC1

DC2

M DC2

DW

M DW

M +Imp

(k/ft.)

(’k)

Ma (Strength I)

fs DC1

fs DC2

fs DW

fs 1.3 +I)

fs (Service II) (k.s.i.)

fs (Total)(Strength I)

Is                     (in )

Ic (n)                  (in )

Ic ( n)                 (in )

Ss                     (in )

Sc (n)                  (in )

Sc ( n)                 (in )

R DC1

R DC2+DW (k)

(n) (n)

(3n) (3n)

L

L

L

L

0.6 Sp. 2

   Is and Ss are the moment of inertia and section

modulus of the steel section used in computing fs

due to non-composite loads.

   Ic   and Sc   are the moment of inertia and section

modulus of the composite section used in computing fs

due to short-term composite loads.

   Ic    and Sc    are the moment of inertia and section

modulus of the composite section used in computing fs

due to long-term composite loads.

   DC1 is the dead load acting on the non-composite section.

   DC2 is the dead load acting on the long-term composite section.

   DW is the dead load acting on the long-term composite section

due to wearing surface.

   Ma (Strength I)=1.25 M(DC1+DC2)+1.5M (DW)+1.75 M(L+Imp).

   fs (Service II) is the sum of the stresses due

to DC1+DC2+DW+1.3(L+Imp).

   fs (Total) (Strength I) (Non-compact section) is the sum of

the stresses due to 1.25(DC1+DC2)+1.5DW+1.75(L+Imp).

   Vsr is the maximum shear range in the span 0.75 (L+Imp).

Pier

Pier

R Imp.

}fMn

(k)Vsr

   }fMn is the full plastic moment capacity computed in

accordance with appendix D6.1 and 6.10.7.

SPLICE DETAILS

SECTION C-C

~ 1 3/8 " x 2" Slotted Holes

1
’-

0
"

1 1/2 ’’ 1 1/2 ’’

15 spa. 15 spa.

= 3’-9’’

3 1/4 ’’

2 
1/

4 
’’

2 
1/

4 
’’

 7/8 ’’ } H.S. Bolts

 15/16 ’’ } holes

TOP & BOTTOM FLANGE ‘

"NTR" denotes members to which Notch Toughness Requirements 

are applicable.

E

E 1’-10"

9 1/4 " 9 1/4 "

1
"
 

1 3/4 " 1 3/4 "

for 1 1/4 " } pintles. Thread or

press fit in bottom ‘.

2 1/4 " x 2 1/4 " x  5/16 " ‘ washer under

1
"
 

 7
/8

 "
 

3" R

 1/8 " elastomeric neoprene

leveling pad according to Article

1052.02 of the Standard Spec’s.

Cost included with Furnishing &

Erecting Structural Steel.

Shim ‘ (if required)

4 1/2 "4 1/2 "

2 
1/

8 
"

2
4
"
 R

~ Brg.

1 3/8 " } Holes-1" deep in top ‘

nut. 1 1/2 " } Holes in bottom ‘.

1 1/4 " }

ELEVATION AT PIER SECTION E-E

plate washer under nut. 1 3/8 " x 2" Slotted Holes in

4 1/2 "4 1/2 "

2
4
"
 R

.

2
"

~ Brg.

ELEVATION AT ABUTMENTS

F

F

2’’

~ 1" } x 1’-0" Anchor bolts with

*‘ 1 3/4 " x 9" x 1’-10"

*PINTLE

SECTION F-F

~ 1"} x 1’-0" Anchor Bolts with 2 1/4 " x 2 1/4 " x  5/16 "

Bottom Flange. 1 1/2 ’’ } holes in bearing plate.

ABUTMENT BEARING

1’-6 1/2 "

 1/8 ’’ elastomeric neoprene leveling pad

according to Article 1052.02 of the

Standard Specifications. Cost included

with Furnishing and Erecting Structural

Steel.

(12 Req’d.)

Anchor Bolts at all bearings may be built into the concrete.

 1/8 ’’ fill ‘ Beam 4 (E. Abut.)

4" 4"3" 3"

 1/8 ’’ fill ‘ Beam 4

Notes: All splice plates shall be AASHTO M 270 Grade 50W.

6 1/2 ’’

*‘ 2" x 9" x 1’-0"

1’-0"

3" 3"

BEARING DETAILS

STRUCTURAL STEEL &

6 1/2 "

3
"

3
"

3
"

3
"

at 3’’ at 3’’

= 3’-9’’
1 

1/
2 

"
1 

1/
2 

"

Top Flange Splice ‘ 

1 1/8 " x 1’-0" x 8’-0 1/4 " (NTR)

Web Splice ‘  7/16 " x 1’-7" x 2’-7 1/8 "

(6 Required)

2 spa. at 3" = 6’’
1 1/8 " x 1’-0" x 8’-0 1/4 " (NTR)

Bottom Flange Splice ‘ 

W. Abut. E. Abut.

INTERIOR BEAM REACTION TABLE

29.3

17.8

68.2

15.9

131.2

79.5

42.8

94.0

18.8

235.1

15.1

10.2

58.8

14.9

99.0

INTERIOR BEAM MOMENT TABLE

0.4 Sp. 1 

10500 10500 10500

25037 25037

18057 18057

581 581 581

819 819

733 733

0.789 0.789 0.789

544 667 128

117 94 37

233 188 75

1028 647 671

2974 2366 1492

4062 4062

28.3 26.7

1.9

3.8

2.6

0.6

1.23.9

1.9

 1/4 

4"

1 
1/

2 
"

1 
1/

2 
"

4 sides

4
 s

p
a
. 

a
t

   3/4 " } H.S. bolts

   15/16 " } holes

DIAPHRAGM D

C12 x 25

(45 Required)

All diaphragm material shall be 

AASHTO M270 Grade 50W.

5"

5
’
’
 =

 1
’
-
8

’
’

~ Diaphragm

1
’-

1
1

’’

~ Diaphragm

PIER BEARING

(6 Required)

*‘ 2 1/8 " x 9" x 1’-2"

*Shim Plate (if required)

7 
1/

2 
’’

CHECKED

CHECKED

DESIGNED

DRAWN

Stephen M. Ryan

R. Sommer
Angela J. Bryant

*AASHTO M270 Grade 50W.

D D

Level out to out

L 6’’ x 4’’ x  1/2 ’’

~ Brg.

SECTION D-D

0.15 0.15 0.15

0.3 0.3 0.3

11.3 13.8

19.6 17.4 12.8

36.6 37.0 17.2

Two hardened washers shall be required for all  15/16 ’’ holes

in diaphragms.S.M.R./F.T.

~ lowest beam

See sheet 11 of 16 for Anchor Bolt Details.

 3/8 

3

Z

(in ) 668

  Z is the plastic section modulus used to determine

the fully plastic moments in the non-composite areas.

2750

For location of Section C-C

See sheet 9 of 16.

September 29,

3053


